ENGINEERING TRIPOS Part IB 2001

Paper 1 — MECHANICS
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Relative sliding velocity at A =190 mms”

Relative sliding velocity at B = 550 mms™'

Angular velocity of link ABC = 2.0 rads”, clockwise
Angular velocity of link OB = 7.4 rads™, clockwise
Relative sliding acceleration at B = 2700 mms”

Angular acceleration of link ABC = 11.75 rads?, clockwise

Angular acceleration of link OB = 28.0 rads”, clockwise
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a@y= 171 rpm; Energy lost = 0.9J.
No.
wp = 343 rpm

Relative to pulley A, B at 90° clockwise and C at 233° clockwise
Fo=Fp= 76N
Radius = 0.23m; relative to pulley A, mass at C added at 38° clockwise

and mass at A added at 218° clockwise
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